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Défi : 50 calculs en 5 minutes (série 842)

2x9=

2x90=____

38+30=

83 x 1000 =

91 x10 =

2+49-=

5x8=____

893 + 500 =

4365 + 3000 =

25 x 1000 =

10x100=____

2179 + 9000 =

2x8=

6 x 80 =

39x100=____

789 +400=____

11 x10=

CM2

26
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29

30

31

32

33

34
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36

37

38

39

40

4

42
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a4

45

46

a7

48

49

72+70=___

413 +400=____

82 x 1000 =

72x10 =

5x8=

10x0=

5737 + 7000 =

9+9,1=

19 x 100 =

99 x 1000 =

340 + 600 =

26 + 20 =

13x10 =

2x40 =

4x6=

5+8,9=

2469 + 2000 =

9+3,3=

19x100=____

S('O\'e Tote/

Reporte ton score sur ton graphique !

série 842
Réponses
col 1 col 2
18 142
180 813
68 g:8r:1
83 000 82 000
910 720
6,9 40
40 0
q:9nr:3 12 737
1 393 18,1
7 365 1 900
25 000 g:4r2
6, 48
48 99 000
700 940
122 46
Q95 130
1 000 80
11 179 24
16 13,9
480 4 469
3 900 12,3
1189 1 900
110 g:2r:1
q:6r1 30
49 1 800




